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expr
expr add_op term
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%{

enum yytokentype {

NUMBER = 258,
ADD = 259,
SUB = 260,
MUL = 261,
DIV = 262,
ABS = 263,
EOL = 264

A N Vju/m\m\,iﬂm\l @vﬁ N rDDOS/P(T%f.

/* recognize tokens for the calculator and print them out */ int yylval;

>

{ return ADD;
{ return SUB;
o { return MUL;
"/"  { return DIV;
" { return ABS;
[0-9]+ { yylval = atoi(yytext); return NUMBER; }
\n { return EOL; }
[ \t] { /* ignore whitespace */ }
. { printf("Mystery character %c\n", *yytext); }

D ]

%%
main(int argc, char **argv)

{

int tok;

while(tok = yylex()) {
printf("%d", tok);
if(tok == NUMBER) printf(" = %d\n", yylval);
else printf("\n");
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$ flex fb1-4.1

$ cc lex.yy.c -1f1

$ ./a.out
a/ 34+ |45

Mystery character a

262
258 = 34

259

263
258 = 45

264
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/* simplest version of calculjtor */

+ SR term: NUMBER default $§ = $1
&Wzn_hm. — | ABS term { $% = $2 >= 07 $2 : - $2; }
>
/* declare tokens */ Tolo
%token NUMBER main(int argc, char **argv)
%token ADD SUB MUL DIV ABS {
%token EOL yyparse();
oy }
alclist: /* nothing */ yyerror(char *s)
calclist exp EOL { printf("= %d\n", $1); } {

: fprintf(stderr, "error: %s\n", s);
exp: factor default $§ = §1 ’

| exp ADD factor { $$ = $1 + $3; }
exp SUB factor { $$ = $1 - $3; }

factor: term default $$ = $1
| factor MUL term { $$ = $1 * $3; }
factor DIV term { $$ = $1 / $3; }
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# part of the makefile
tb1-5: +b1-5.1 fbi-5.y
bison -d fb1i-5.y
flex fb1-5.1
cc -o $@ fbi-5.tab.c lex.yy.c -1fl1

rpvg?J_\/Mw\»

$ ./fb1-5
2+3 %4
14
¥3 4+ 4
10

20/ 4 - 2
= 3

20 -4/ 2
= 18

[ 8]

=
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exp: factor default $3 = §1

| exp ADD factor { $$ = $1 + $3; }
| exp SUB factor { $$ = $1 - $3; }
factor: term default $8 = $1

| factor MUL term { $$ = $1 * $3; }
| factor DIV term { $$ = $1 / $3; }
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